NAME___________________

Stoichiometry

Mass to Mass #2

1. Sulfur dioxide reacts with oxygen to produce sulfur trioxide. How many grams of sulfur dioxide could be 

       converted by this process if 100.0 g of oxygen are available?

2. Zinc will react with hydrogen sulfate to produce hydrogen gas. If 50.0 g of zinc are to be used in the reaction, how 

    many grams of hydrogen sulfate would be needed to completely use all of the zinc?  

3. If you perform the same reaction as in #3 with the same mass of zinc, how many grams of hydrogen gas to you 

       get?

